AN 2 A AR N R 3 S AR K K R 1/1
WIH :20208E8 H 150 (+)~8H16H (H) 2 ARG A 7 V) —7 (50m)
No.27 &+ 200m /X2 754 B4 LL—RREE S 201012
B K 4 T & 2E KE B fE
1 /NE e CEPAY N7 =3 3/ 6 2:16.04 10#% ( 0.64)
30. 67 :05.11 140. 42
2 Ak HBE B = 3/ 1 2:16.92 10#% ( 0.65)
29. 61 :04. 31 140. 25
3 HlH{EEA T Fr K Bl =3 3/ 7 2:18.23 108% ( 0.67)
29. 54 :03.91 :40. 92
4 B4 =l =3 3/ 3 2:19. 74 9k ( 0.67)
31.00 :06. 04 142. 28
5 KB fAY FRRAH =3 2/ 4 2:20.04 9%% ( 0.67)
31. 77 :07.25 :43.59
6 &} TE =1 52 3/ 5 2:21. 61 9%% ( 0.69)
31. 20 :06. 61 144,01
T BRI PR ) 3 3/ 4 2:21.64 9%% ( 0.63)
31. 00 :06. 56 143. 67
8 EL 5 B L2 = 53 3/ 2 2:21.86 9% ( 0.71)
31. 46 :06. 98 :43.91
9 FilJR  ACEE =D =) 2/ 6 2:22.87 9% ( 0.69)
32. 06 :08.01 :45.01
10 Rk =52 = LKA E =3 2/ 3 2:27. 40 8% ( 0.62)
31.40 :09. 00 :49. 95
11 /Nfy B S=y=F v =3 2/ 2 2:27. 42 8tk ( 0.67)
32.53 :09. 66 148. 66
12 /MG BE gogsl &3 2/ 1 2:31.65 7#% ( 0.63)
32.93 110. 87 :50.61
13 /N L BHAN = 2/ 8 2:35.18 6% (0.72)
33.62 112.72 :53. 89
14 5FF B B PE R =] =3 2/ T 2:35.66 65% ( 0.67)
33.08 111.45 :52.50
15 =59 H & 78 =2 1/ 5 2:48.47 4 ( 0.69)
37.16 :20. 04 :04. 18
16 IR Al H =R =2 1/ 4 2:49.85 4% (0. 68)
36. 87 :19.79 :04. 75
17 & =859 HRF =8| 1/ 2 2:49.98 4#% ( 0.75)
33.75 116. 48 :03. 29
18 {4 EifE Rl =3 1/ 7 2:52.13 3k (0.77)
33.72 115.64 :02. 30
19 28 70 Fiils =1 1/ 3 2:54.78 3tk ( 0.73)
36. 06 119. 15 :06. 52
HABAKE: 8H16H 14:56



